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Abstract
The quasi-exact solvability of symmetrized quartic anharmonic oscillators
has been studied first by Znojil [2] and then by Quesne [3]. In this work,
we examine the solvability of these models using, as basic parameter, the
energy-dependent, constant (i.e. position-independent) term of a quotient
polynomial. We examine the cases n=0 and n=1, and we show that our
results are in agreement with those of Quesne. For n=2, following a
different path from that of Znojil, we derive the cubic equation that our
parameter satisfies and for the case it has a root at zero, we follow the zero
root to obtain an even-parity, ground-state wave function and an odd-
parity, third-excited-state wave function. As in the case of the sextic
anharmonic oscillator [6], the straightforwardness and transparency of the
analysis demonstrates the eligibility of the quotient polynomial as a
solvability tool of polynomial oscillators.

Keywords: symmetrized potentials, quartic anharmonic oscillators, symmetrized
quartic anharmonic oscillators, polynomial oscillators, quotient polynomial, quasi-
exactly solvable potentials, Bethe ansatz
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Introduction

Within the framework of the Bethe ansatz [7], the solvability of one-dimensional,
attractive at (least at) long distances, smooth and real polynomial potentials can be
examined using a quotient polynomial [5, 6].

In this context, the bound energy eigenfunctions of the potential that can be found in
closed form are given by the ansatz

w(%mn)=A4,p,(%)exp(g,, () (1)

with p, (5(:) being a dimensionless, real monic polynomial of degree n>0, and

g,,, (%) an also dimensionless, real polynomial of degree 2m with negative leading

coefficient, where the tilde indicates a dimensionless quantity [5].
The polynomial p, () satisfies the differential equation [5]

P, (2)+22,, () 2, (F) = =@y (551) p, () )

where 9 )(fc;n) is the quotient polynomial, a Z(m—l)-degree polynomial whose

m—1
coefficients depend on n [5].
In [5], we examine the case where m is a positive integer, and thus both the
exponential and the quotient polynomials are of even-degree.

If m =%, then deg(q)=-1,i.e. ¢ (X;n) is not a polynomial, and the potential is not

polynomial either. We’ll discuss this case in a separate work.

m—1

If m>1, then qz( )(fc;n) is still a polynomial even if m is half-integer.

The potential is given by the general expression [5]
17 ()Ea ma n) = me’z (i) + g2m” (‘)‘E) - qz(m—l) (‘i’ n) + E (3)

with deg(V)=2(2m-1).

The case m=3/2 — Symmetrized quartic anharmonic oscillators
If m:%, then deg(V)=4, ie. the potential is quartic, and deg(g)=1, ie. the

quotient polynomial is a linear polynomial.
Then, the potential (3) takes the form

g ~ 3 ’ ~ 14 ~ ~ =~
V(x;a,nj =g, ()c)+g3 (x)—q1 (x;n)+E 4)
We want the potential to be symmetric, i.e. of even parity, and thus the energy

eigenfunctions  (X;m,n) have definite parity [8], i.. they are of either even or odd

parity.
Then, from (1), the exponential part exp( 2o ()E)) must be of even parity, otherwise

l//()?:; m,n) does not have definite parity, and then the exponential polynomial g, (fc)
must also be of even parity.



Then, again from (1), y(X;m,n) and p, (%) have the same parity, ie. the energy
eigenfunctions are of even/odd parity if and only if the polynomials p, ()E) are of

even/odd parity.
Then, we construct the following symmetrized, and thus of the desired even-parity,
exponential polynomial of degree 3,

2
&M=L + 22 g )
with g, #0.

In (5), the factors % and % are put in for convenience.

The constant term g, of the exponential polynomial corresponds to a constant
exponential term exp( 2o ) , which can be incorporated into the normalization constant

A, of l//()?;m,n) , and thus, without loss of generality, we omit the constant term of

the exponential polynomial.
Also, the eigenfunction t//()E;m,n) must be square integrable, because it describes a

bound state, and thus the exponential part exp( g5 ()E)) must vanish at oo, and thus
2

g, (#0) = —o0, which is assured by the negativity of the leading coefficient -

Since both the potential and the exponential polynomial are of even parity, from (4)
we see that the quotient polynomial is also of even parity , and since it is linear, it will
have the form

q,(%n)=q, (”)|’E|+ q,(n) (6)

* Since g, ()E) is of even parity, g, ()E) is of odd parity, but then g~ ()~C) is
again of even parity.

Also, g3" ()E) has the same parity as g, ()E) , Le. it is of even parity.
Since from (4), g, ()E,n) =g’ ()E) +g) ()E) +E - I}(fc,%,nj , we derive that

q, ()E,n) is of even parity, as sum of even-parity polynomials.

As in the case of the sextic anharmonic oscillator [6], the quotient polynomial
q, (fc,n) has no intermediate terms, i.e. it is a binomial with a leading and a constant

term.

As discussed in [5], if the quotient polynomial has intermediate terms, we cannot find
more than one energy eigenfunction of each of the respective potentials in closed
form, which is the simplest — and in this sense a trivial — case of quasi-exact
solvability.

For x>0, (6) becomes

q, (fc,n) =q, (n)fc+ 9, (n)



Then

@ (’E’”) =4 (”)

Thus, we have

a9 (0+;I’l) =4, (I’l)

%’ (0+;n) =4, (n)

Similarly, for x <0, (6) becomes
q, (fc,n) =—q, (n)fc+ 9, (n)

Then

q1’ ()E,I’l) =—q, (I’l)

Thus, we have
q, (Oi;n) =4, (I’l)
%’ (Oi;n) =4 (n)

We see that the quotient polynomial is continuous at 0, but its derivative has at 0 a
finite jump equal to

g, (0":n) =g, (07:n)=2¢,(n) (7)

For x > 0, the exponential polynomial (5) becomes

2

g (F)=-5-%+ é; P+gi
Then

g, (F)=-g F+g,5+g
g (¥)=-2g'%+g,

Thus, we have

g3’ (0+ ) =

g3" (0+) =

Similarly, for x <0, the exponential polynomial (5) becomes
2 2

& (7)== + 228 4 (-8) =8P+ 2P - g8



g (¥)=2g,%+g,

Thus, we have

g3’ (07) =-&

g3" (07) =&

We observe that g, (%) has a finite jump at 0, equal to

g, (07)-g,(07)=g,-(-g)=2g.

but g," (X) is continuous at 0, since g," (0*) =g/ (0’) :

Since g, (0*) =-g/ (0’) , and g’ (0*) =g/ (O*) , the quantity g,*(0)+g,"(0) is
continuous at 0, and it is equal to g° + g, , i.e.

g (0)+g'(0)=g’+g, (8)
Then, since the quotient polynomial is continuous at 0, from (4) we derive that the

.o~ 3 ) )
potential V(x;a,nj 1s continuous at 0.

Thus, imposing the condition that the potential V()E,%,nj should vanish at 0, and
using that

q,(0:n)=¢,(07:n)=q,(n) =g, (0:n),

(4) gives

g;z (0) +g3" (0)—q0 (n) +E=0= 9, (n) = l:7+g3'2 (0)+g3" (0)
Using (8), the last equation becomes
90 (n) = E+g12 +& )

As in the case of smooth polynomial potentials [5], the constant term of the quotient
polynomial is energy-dependent, and in this case, it is equal to the energy of the

eigenstate described by the wave function (1) plus the constant g> + g, .
Let us now find the expression giving the leading coefficient g, (n) of the quotient

polynomial.
In the region x>0, using the expressions of the quotient polynomial and of the
derivative of the exponential polynomial, the differential equation (2) is written as, for

m=—,

2
p (F)+2(-g,’F +g.5+g)p, (£)=—(q,(n)%+4,(n)) p, (%) (10)

The polynomial p, (X) is of degree 7.



As in the case of smooth polynomial potentials [S], we can incorporate, without loss
of generality, the non-zero leading coefficient of p, ()E) into the normalization
constant of the energy eigenfunction.

n

Then, in the positive region, where |¥|' = %", the leading term of p, (%) is ¥, and

~n—1

then the leading term of p (%) is nx
Also, we have

deg(pn")=n—2, deg(fczpn'(i))=n+l, deg(fcpn'(fc))=n, deg(pn'(i))=n—l,
deg(xp,)=n+1, and deg(pn(fc))zn.

Then, the highest powers in X in both sides of (10) are of n+1 degree, with one term
in each side of the equation, with the respective coefficients being —2ng,” and

—q,(n).
Since the coefficients of the same degree terms in both sides of (10) must be equal,
we obtain

q,(n)=2ng;* (11)
In the region %<0, where |¥|=-%, the leading term of p, (%) can be ¥ or —%’,

depending on whether the leading term of p, ()E) is in absolute value and on whether

n is even/odd.
Then, in the negative region, the leading term of p, ()E) is, in general, £X”, and the
leading term of p,’ ()E) is, in general, +nx"".

In the region x <0, using the expressions of the quotient polynomial and of the
derivative of the exponential polynomial, the differential equation (2) is written as, for
3

m=—,

2
p (F)+2(g’F +&.5-g ) p, (§)=—(-a,(n)%+4,(n)) p, (%)

As we did in the region X >0, equating the coefficients of the two (n+1) -degree

terms in X in the previous equation, we obtain
+2g.’n= _(_% (n))(il) = +2g.’n==q,(n)= q,(n)=2ng;

We see that the leading coefficient of the quotient polynomial is the same in the
positive and negative regions, as expected, since the quotient polynomial is of even

parity.
The two continuity conditions

o523 : :
The potential (x;g,nj is continuous everywhere, and thus both the energy

: : .3 : o :
eigenfunction y/(x;a, nj and its derivative must be continuous everywhere [1].



Using (1) for m :%, the condition that y/(i;%,nj is continuous at 0, i.e.

V/(O;%,nj = V/(0+;%,nj,

gives

A,p,(07)exp(g2(07)) = 4,p, (0" )exp(g: ("))

Using that 4, #0 and g,(0)=g,(0")=0, the previous equation becomes
2.(07)=p,(0") (12)

i.e. the polynomial p, (%) is continuous at 0.

Using again (1) for m :%, the first derivative of y/(i;%,nj is

V/(i%nj =(4,p, (¥)exp(g, (i)))' =4,p, (¥)exp(g;(%))+4,p,(%) g, (X)exp(g,(¥)) =
= 4,(p/ ()45, (¥)&) (%) )exp(2, (5))
That is

l//(x%nj =4,(p, (3)+ 2, (3) & (7)) exp(g: (%))

) ) ) .. (.3 ) . )
Using the previous relation, the condition that y (x;a,nj 1s continuous at 0, 1.e.

3 3
' 07;_5 =y’ 0+;_5 »
W( 2@ W( 2@

gives

(50D 060 ol )40 0 0 o)

Using that 4, #0 and g,(0)=g,(0")=0, the previous equation becomes

P, (07)+p,(07)(07) =5, (0)+p, (07) e, (07)

Using that g, (07)=—g,, g, (0") =g, and (12), the previous equation becomes
P, (07)+p,(07)(-g)=p,(0")+p,(07)g,

and thus

p, (07)=p,(0")+2g,p,(0") (13)



i.e. the first derivative of p, (X) has at 0 a finite jump.
Note that if g, =0, i.e. if the linear term of the exponential polynomial vanishes, then

the first derivative of p, (¥) is continuous at 0.

The recursion relation and the (n+1)-degree equation of qy(n)
Using (11), (10) is written as

p(8)+2(-g’F +g,5+g,)p, (£)=—(2ng,’%+4q,(n)) p, (%) (14)
This is the differential equation the polynomials p, ()E) satisfy in the region X > 0.

In the region x>0, )~c|k =3*, and thus for the terms of degree k, we have the

coefficients
2. () > (k+2)(k+1) p,.,
2(-g’F+g,5+g)p, (F) > 2(-g (k=1) p + gk, + g, (k+1) by, )

~(2ng,’ % +4,(n)) p, (%) > (218, Py +40 (1) )

Thus, equating the coefficients of the terms of degree £ in x in both sides of (14), we
obtain

(k+2)(k+1) pyp +2(=g," (k=1) pyy + &kp, + &, (k+1) py ) =—(2ng, P + 45 (1) 21 ) =
= (k+2)(k+1) p, —2g," (k=1) pyy +28:kp, +28, (k+1) py =218, P — 4, (1) P

Thus, we obtain the four-term recursion relation
(k+2)(k+1) Py ==2(k+1) & Py — (g0 (1) + 2k, ) p +2(k=n=1) g’ p,., (15)

Observe that if g, =0, i.e. if the linear term of the exponential polynomial vanishes,

(15) becomes a three-term recursion relation, which is typical of a quasi-exactly
solvable system [4, 6].

For k=0, dropping p ,, whose index is negative, we obtain from (15)

2p, =-2g,p,—q,(n) p, (16)

For k=1,2,...,n—2, all four terms are present in (15).

For k=n-1, dropping p,,,, whose index exceeds the degree of p, (X), we obtain
from (15)

0=-2ng,p, (4o (n)+2(n~1)g,) p,., 4.,
In the region x>0, p, =1, and thus the previous equation becomes
-2ng, _(% (n) + Z(n —l)gz)pH — 4g32pm2 =0 (17)

For k=n, dropping p,, and p,,,, whose indices exceed the degree of p, (%), we
obtain from (15)



0=—(q,(n)+2ng,) p,—285’p,,

Using again that p =1, the previous equation becomes

_(% (l’l) + anz ) - 2g32pn—l =0
Since g,” # 0, we end up to

4y (n)+2ng2

18
2832 (19

pn—l =

For k=n+1, dropping p,.,p,.,,» and p,.,, whose indices exceed the degree of
p, (%), we obtain from (15)

0=2(n+1—n—1jg32£ﬁ:>0:0
1

0

i.e. for k =n+1 the recursion relation (15) holds identically.

This is expected, since for k=n+1, we calculate the leading coefficient of the
quotient polynomial, which we have precalculated and incorporated into the initial
differential equation (14).

Since for £ =n+1 the recursion relation (15) holds identically, we’ll use it for

k=0,1,..,n,

as we did in the case of the sextic anharmonic oscillator [6].
From (18), we see that p, , is a first-degree polynomial in g, (n).

Then from (17), which is written as

~2ng,—(q,(n)+2(n-1)g,) p,, —48:'p,, =0=

(n_l)gZ - ng,
2832 " 2g32

3pn—2:_4g2q0(n)pn—l_ 2

g;°#0 3

we see that p, , is a second-degree polynomial in g, (n).

Thus, since p, =1, we have

P, is a zero-degree polynomial in g, (n),
P, is a first-degree polynomial in g, (n),
P,_, is a second-degree polynomial in g, (n).

Besides, the recursion relation (15) is written as

2(k=n-1)gp,, =(q, (n)+2kg,) p, +2(k+1) g py,, +(k+2)(k+1) p,,, =
=q,(n) p, +2kg,p, +2(k+1)g,p,., +(k+2)(k+1) p,.,

Since k<n=k-n-1<-1#0, and also g,” # 0, we end up to



1

_ kg, (k+1)g, (k+2)(k+1)
P = +
2(k—n—1)g3

k—n-1)g Py Jr(k—n—l)g32 Pren 2(k—n-1)g

7 90 (”)pk +( Piin (19)

Then, we can easily show by induction that
p, isa (n—k)-degree polynomial in ¢, (n), for k=n,n—1,...,0

Indeed, for k=n,n—1,n—2, it holds.
Then, assuming that

P.., 1s a polynomial of degree n —(k + 2) =n—k—-21in g, (n) .

P..; 1s a polynomial of degree n— (k + l) =n—k—11n g, (n) .

p, is a polynomial of degree n—k in ¢, (n),

from (19) we derive that

P, 1s apolynomial of degree n—k+1=n —(k - l) n g, (n) .

Thus

p, is a polynomial of degree n—2 in g, (n),

p, is a polynomial of degree n—1 in ¢,(n), and

P, is a polynomial of degree n in g, (n).

Then, (16), i.e. the recursion relation (15) for k=0, is a polynomial equation of

degree n+1 in g, (n), and thus it can have up to n+1 real roots.

Then, solving (9) for E,ie.

E=q,(n)-(g’ +g,) (20)

we obtain the energies of the respective symmetrized quartic anharmonic oscillator

(4), which thus can be up to n+1, with n being the degree of the polynomial p, ().

Since in the one-dimensional bound states there is no degeneracy [8], each energy
corresponds to only one eigenstate, and thus, for every value of n, we can find up to
n+1 eigenstates of the respective symmetrized quartic anharmonic oscillator (4).

Having calculated the polynomial p, (%) in the region >0, we find its expression

in the region X <0 by using that p, ()E) is of either even or odd parity, and it satisfies
the two continuity conditions (12) and (13).

Examples

n=0
The polynomial p, ()E) is of zero degree, i.e. it is a constant, which, in the region

x>0,is 1.



Since p, ()E) must have definite parity, it can be only of even parity, and then
P, (%) =1 in the region ¥ <0.

The condition (12) is then satisfied, while the condition (13) gives
0=0+2g,=g,=0

We see that the linear term of the exponential polynomial vanishes.
Besides, for n=0, k =0, and the recursion relation (15) gives

0=—g, (0)170’

where we also used that g, =0.

Since p, =1, we end up to

9, (O) =0

Then, from (20), the energy is

E=-g, 21)

Also, for n=0, (11) gives that ¢, (0)=0, and since ¢,(0)=0, the quotient

polynomial is zero, i.e. ¢, (%;0)=0.
Then, from (4) we have

V(i;%,oj =g, (¥)+g (F)+E

Then, using (21) and the expressions the first and second derivatives of g, (fc) take in

the region x>0 for g, =0, the potential in the positive region — let us denote it by

V. —1is

+

V. (i;%,Oj = (—gffcz + ngc)z +(—2g32)~c+ g, ) ~g,=g,'% +g,’%¥ -2g,8,°% —2g.%
That is
V., (i;%,Oj =g % -2g,8°% + g% -2g/%k
Since the potential is symmetric, we end up to
vV (x% oj = g,'% —2g,¢] |3 + &% -2 |7 22)
Also, the energy eigenfunction (1) becomes
y/(i;i,oj = 4, exp[—g—fﬁr +&x2j (23)
2 3 2
Since it has no zeros, (23) is the ground-state wave function.

Therefore, the ground state of the symmetrized quartic anharmonic oscillator (22) is
described by the even-parity wave function (23) and has energy given by (21).



Setting

g =-b, %za,i.e. g, =2a,and g32:1,

the energy (21), the potential (22), and the wave function (23) are respectively written
as

E=-2a

V(i;%,oj = ' 4|7 +4a°5 - 23|

~ 3 1 ~13 ~2

xX;—,0 | =A4,exp| ——|x| +ax
"'( 2 j hexp ( 31 j
in agreement with Quesne [3].

n=1
The polynomial p, (fc) is of first degree, i.e. it is a linear polynomial, and thus it has

two coefficients, p, and p, .

For n=1, k=0,1.

For k =0, the recursion relation (15) gives
0= _Zglpl — 4 (l)po

For k =1, the recursion relation (15) gives

0= _(QO (1) + 2g2)pl _2g32p0

In the region x>0, the leading coefficient of p, (%) is 1, i.e. p, =1, and then the

previous two relations become, respectively,
—281=4,(1) Py =0 (24)

~(q,(1)+28,) 28y p, =0 (25)

(25) is written as

~(a(1)+28,) =2¢,"p,

Since g,” # 0, the previous equation gives

1)+2
Do =—% (26)

83

This is the relation we obtain from (18) for n=1.
Substituting (26) into (24) yields

1)+2 1)+2
-2g, -4 (1){——q0 (2)g — J 0= 2g, +4, (1) 25 (2)g 0=
3 3

1
= 2.+ gl 1)+ B1g, (1) =0

83 83



Thus, g, (1) satisfies the quadratic equation

q02 (1) + 2g2q0 (1) - 4g1g32 =0 (27)
The discriminant of the trinomial in the left-hand side is

4g,* +16g,g,

If the discriminant is non-negative, i.e. if
4g,’ +16g,g," 20

or, since g,” >0,
2

)

2
83

the equation (27) has real roots, which are

9,(1)=-g, g, +4g.g’ (29)

Substituting (29) into (26), we obtain

g g t4gg

2g32

Py =

or

0

_ -8, F\8 +48.8
2832
Thus, in the region X > 0, the polynomial p, (%) is

—g,F4g,” +4g,8)
5(/_4_{_ g2+ gz - g1g3 (30)
2g,

p (%)=

The linear polynomial (30) must have definite parity.
i If

—8,¥8, +48.8" 20> g, #Fg, +4g.8y =g # e, +4g.8" =

2
:>|g2| ¢g22+4g1g32 :>0¢4g1g32 = & #0,
2

2
#0
2, 83

ie. if g, #0, the polynomial (30) can be only of even parity, and this happens if and
only if, in the region X <0,

~+ _g2 1\[ g22 +4g1g32

p(R)=-re S R0

and then



_g2$ \/g22+4g1g32 (31)
2 2

3

(%) =|’E|7L

The condition (12) is then satisfied, while the condition (13) takes the form

—g,F4/8, +4g.8)

-1=14+2g, 207
or
—& ++ gzz +4g1g32
g 2 =-2(32)

As a consequence of (32), g, #0, and —g, T+/g,” +4g,g,° #0 which again gives

g, # 0. Thus, the assumption that —g, T+/g,” +4g,g," # 0 is consistent with (32), as

expected.
From (32), we obtain

—8, Fy8& +4g8’ _ 1

2 b

2g; 41

and the polynomial (31) becomes
TR |
p(%)=|x]-— 33)
1

ii. If g, =0, the equation (27) becomes

g, (1)+28,4,(1)=0=g,(1)(g, (1) +2¢g,)=0=¢,(1) =0 or g,(1)=-2g,

Substituting into (26) the two values of g, (1), we obtain, respectively,

po=_g_22 or p, =0,
&3

and thus, in the region x>0,

P (%) =5-=5Z or p,(%)=F%,
83
respectively.

Besides, for g, =0, the condition (13) takes the form p, (0’) =p/ (0+) , and since in

both previous cases p, (0*) =1, we obtain p, (O*) =1, ie. the leading term of p, (%)

in the negative region is also X, in both cases.
Then, since p, (fc) must have definite parity, it can be only of odd parity, and thus the

accepted solution is the second, i.e. p, (fc) = X, which corresponds to p, =0, and thus
9 (l) =-2g,.



The linear polynomial p, (X)=X, for x € R, satisfies both continuity conditions (12)
and (13).

Therefore, if g, =0, then

4o (1) =-2g, 34)

and

p(X)=% (35)

To summarize,

2
If g12—4g22 and g, #0, then

83

T | . .
q,(1)=—-g, £\g,’ +4g,g,’ and p,(X)=|3|—— (even parity), with
&
—8, T8 +48.85 _
g 5 =-2.
&3

If g, =0, then

q,(1)=-2g, and p,(X)=X (odd parity).

2
P

2 b
&3

Note that in this case, the condition g, >-

i.e. the non-negativity of the

discriminant of (27), holds.
2

£ ~ and g, # 0, solving the condition (32) for
&3

In the first case, ie. if g, >—

g, yields

2
2g.> 20> 2g;’
—g, T8, +4g.gl =- ? =g, +=5 =1 [g 71 4gg)] :{_gz +=2 | =g,  +4gg) =

1 1

4g,' 4g,g) 48,85’ 4g,’ g g’
=g, =g HAg g = -2 = 4g et = = Sl =g -2
1 & & 1 g0 &8 &

Thus

2
g, =—g +5- (36)

41

Note
2

For g, given by (36), the condition g, —4g2 holds.

2
83

Indeed, using (30), the previous condition becomes



2 2 4
g
(—g12+3j g14+g732_2g1g32 6 4_ngdg2
g > - _ & __& +8; —28/8;
1 ’ 4g32 4g12g32

That is
_g‘+e'-2g’g)]
4g’g)
Since 4g,°g,> > 0, the previous inequality becomes

4g’g) >—(g°+g' —2¢°g, )= —4g e’ < g +g' -2¢¢’ =

g =2

2
= g16 +g34 +2gl3g32 >20= (gf +g32) >0, which holds.

Besides, from (29) we obtain

+v gzz +4g1g32 ==8,"9 (1) )

and substituting into (32), we obtain

-g,—g —q,(1
8 & gzz % ):_2:_2& —q,(1)=-
g g &

By means of (36), the last equation becomes

2

2
q,(1)= —2(—&2 +g—3j +28 g
1 &

That is
9 (1) = 2812 (37
By means of (36) and (37), (20) becomes, for n=1,

2 2
E= 2g12 _[glz _glz +g_3j = 2g12 _%
1 1

That is
g 2
E=2¢7 -5 (39)
&
This is the energy of the eigenstate corresponding to the linear polynomial (33).
Besides, for n=1, from (11) we obtain ¢, (1)=2g,* and thus, using also (37), the
2
&

2
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quotient polynomial ¢, (%;1), for the case where g, >— and g, #0, is

q, (%1)=2g|%+2g’ (39)

Also, by means of (36), the exponential polynomial (5) becomes



e, g g p, g e
g, (%) =—=|3 + . x2+g1|x|:—73|)~c| +—= =3 P 4 g |
1
That is
2 3 2
g (%)=L + BB g |4

1

Then, for x>0, we have

3 2
1~ - - + -
2, (x)z—g32x2+ 8 T&; Ftg
&1
3 2
14 ~ ~ - +
g (¥)=-2g ¥+ 51—
&1

Plugging the previous derivatives, the quotient polynomial (39) for x>0, and the
energy (38) into the potential (4), we obtain

3 2 2 3 2 2
Z(f,§,1j=(—g32i2+ gl +g3 j‘é_i_glj _2g32i+ gl +g3 _(2g32i+2g12)+2g12 _g_3=
2 8 8 8

3 22 3 2

~ —g + ~ —-g  + - ~ ~ ~

=g'% +(%} ¥ +g’-2g] (ﬁj)f -2g,8,°% +2(—g13 +g32)x—2g32x+
1 1

3 2 2 3 2 . 2y’
. " 3 _ — + - - + ~
8T8 g% 0gr42g Bl mg iyt 2g 2 S T8 B +[(ﬁj 2g1832}62 -

&1 & & 4
3 2 2
5 g’ +
—2(g13+g32)x+g12+ & T8 & _
& &
3 2 6 4 3 2 3 2
- -8 +g . +g, -2 -2 - ~
= g '% —2g;? & T8 3, 8 TEs g12g3 81 85 x2—2(g13+g32)x
& &
That is, the potential in the region x>0 is
B _ 3 _ 3 2 _ 6 + 4_4 3 2 _ _
v, (x;z,lj =g % +2g/] &1 . £ pi& g3g 5 £18 3 —2(g13 +g32)x
1 1

Since the potential is symmetric, we end up to

2

(3 3 g2 64 ot _dodgl? 3
V(x;5,1j=g34x4+2g32 & gg3 |x|3+g1 g3g 81 83 x2—2(g13+g32)|x| (40)
1 1

Therefore, the symmetrized quartic anharmonic oscillator (40) has an eigenstate of
energy (38), which is described by the even-parity wave function

V/(i‘é 1)=A |)~C|_L exp _g_sz|,;|3+ﬂ;c2+g 5| | (41)
925 1 gl 3 2g1 !

with g, #0.



Observe that we’ve expressed the potential, the energy, and the wave function in
terms of g, and g, only, g, does not appear.

o 1 .
If g, <0, then |x|—— >0, and then the wave function (41) has no (real) zeros, and
&
thus it describes the ground-state of the symmetrized quartic anharmonic oscillator

(40).

If g, >0, then the equation |)E| = L has two real roots, at X = J_ri , and then (41) has
& &

two zeros, and thus it describes the second-excited state of the symmetrized quartic
anharmonic oscillator (40).
Setting

g =-b, %za,i.e. g, =2a,and g32:1,

the energy (38), the potential (40), and the wave function (41) are respectively written
as

Fea(opy Loy 120
b b
3
V(x,i,ljziuz( b_) gy (5) +1 ?( ) *=2((-b) +1)J¥
2 b (-2)

3 6 3
S AR it +l1)j4b 7 -2(-b+1)[3|=

3 6 3
S LAt +;‘f’ e (b -1)

y/(i;%,lj = 4, (|)~c| —_ibj exp{—éﬁr +_(%_);)+1x2 +(—b)|5c|} =

b +1 . a1 L. b +1.
_A(|x| jexp[——|x| 2';) 52 b|x|j (|x|+zjexp[—§|x|3 22 72 b|x|j

in agreement with Quesne [3].
In the second case, ie. if g, =0, then g,(1)=-2g,, and then (20) gives, for

n=1,
E=-3g, (42)

The leading coefficient of the quotient polynomial is the same as in the previous case,
since n remains 1, and thus in this case the quotient polynomial is

¢ (1) =2¢,"|¥|-2¢, (43)
Also, for g, =0, the exponential polynomial (5) becomes

&> 72
2

g (¥)=- |x| Y



Then, in the region X >0, we have
g3’ (’E) = _g32i2 +g,X

g3" (’E) = _2g32)~c+ &>
Plugging the previous derivatives, the quotient polynomial (43) for x>0, and the

energy (42) into the potential (4), we obtain

I;Jr (ﬁ%alj =(—g32i2 +g2)~c)2 -2g,’%+g, _(2g32)~c_2gz)_3gz =

2~

= g34)f4 +g22)~52 —2g2g32)f3 —4g.°x

That is, the potential in the region x>0 is
(.3 - - - -
V. (XQEJJ =g, %' -2g,8,°% +¢,’ %" —4g,’%

Since the potential is symmetric, we end up to

V()E;%,lj = g34)~c4 _2g2g32 |)~C|3 +gzzi2 _4832 |)~C| (44)

Therefore, the symmetrized quartic anharmonic oscillator (44) has an eigenstate of
energy (42), which is described by the odd-parity wave function

2
y/(i;%,lj — A Fexp (—%M} +%x2j (45)

The wave function (45) has one (real) zero, at zero, and thus it describes the first-
excited state of the symmetrized quartic anharmonic oscillator (44).
Setting

g =-b, %za,i.e. g, =2a,and g32:1,

the energy (42), the potential (44), and the wave function (45) are respectively written
as

E=-6a

V(i;%,lj =5 —4a|3] + 4’ - 4|5

~ 3 ~ 1.,3 ~2
x;—,1 |[=Axexp| ——|x| +ax
'/'( 2 j ‘ p( 31 j

in agreement with Quesne [3].

Regarding the case n =1, we observe that the parameter g, i.e. the coefficient of the
linear term of the exponential polynomial, determines the degree of the excitation of
the one known eigenstate of the respective symmetrized quartic anharmonic
oscillator.



If the parameter g, is negative, the one known eigenstate is the ground state, if it is

zero, the one known eigenstate is the first-excited state, while if it is positive, the one
known eigenstate is the second-excited state.

We remind that, in the case n =0, the parameter g, is zero and the one eigenstate we

found was the ground state of the respective symmetrized quartic anharmonic
oscillator.

Note also that the symmetrized quartic anharmonic oscillators (22) and (44) differ
only in the coefficients of their linear terms. This happens because, in both cases,

g, =0, and the respective exponential polynomials have the same form.
n=2
The polynomial p, (fc) is a second-degree polynomial, and thus it has three

coefficients, p,.p,, and p,.
For n=2, k=0,1,2 in the recursion relation (15).
For k =0, the recursion relation (15) gives

2p2 = _2g1pl —4 (2) Do
Since p, =1 in the region X > 0, the previous equation becomes
2=-2g,p,—4,(2) p, (46)

in agreement with (16) for n=2.
For k =1, using again that p, =1 in the region X >0, we obtain from (15)

0=—4g, —(q,(2)+2g,) p,—48:" P, (47)

For k =2, using again that p, =1 in the region x> 0, we obtain from (15)
0= _(QO (2) + 4g2 ) - 2g32p1

Since g,” # 0, the previous equation gives

q (2)+4g2

48
e (48)

==

in agreement with (18) for n=2.
Substituting (48) into (47) yields

2)+4
0=-4g —(4,(2) +2gz){—mj —4g.’p, =

2832
2)+4
=—4g,+(4,(2) +2g2)%—4g3%
83
Thus
2)+2 2)+4
4g32p0:_4g1+(q0( )+ gZ)(?O( )+ gZ)

2g,

Since g,” # 0, we finally obtain



o8 (% (2)+2g2)(% (2)+4g2)
==+ . (49)
83 8¢,

By means of (48) and (49), (46) becomes

2:_2g1[_q0(2)+4g2j_q0(2)[_i+(q0(2)+2g2)(q0(2)+4g2) _

2g32 g32 8g34

8 (2)+42e 24,(2)  0(2)(a(2)+28)(%(2) +42,) _

&3 g32 885
_ 284, (2)+4g8, 4 (2)(q02 (2)+6g,49, (2)+8g22)

2 4

83 8¢,

%3 (2) + 6g2%2 (2) + 8g22q0 (2) n 2g4, (2) +4g.g,
8g34 g32

Py =—

That is
_q03(2)+6g2q02(2)+8g22q0 (2)+2g1q0 (2)+4g1g2
8g;" g5
q03( )+6g2q0 ( )+8g22qo(2))+8g32(2g1q0(2)+4g1g2):16g34:>
=q, (2)+6g2q0 ( )+8g2 qo(2)—8g32(2g1q0(2)+4glg2)=—16g34:>
=q, (2)+6g2q0 ( )+8g2 q, (2)—16g1g32q0 (2)—32g1g2g32 =-16g,’

=2=

Thus, g, (2) satisfies the following cubic equation

a9, (2)+6g,4," (2)+8(2," —28,8,") 9, (2) +16g,” (g5 —22,8,) =0 (50)

As an odd-degree equation with real coefficients, (50) has at least one real root.
If g’ -2g,g,=0,ie. if

g’ =2gg, (51)

the equation (50) is written as

9 (2)(40° (2)+ 62,4, (2) + 82, (2. —4g)) =0,

and thus

7,(2)=0 (52)

or

a0, (2)+6g,4,(2)+8¢g,(g, —4g7)=0

We’ll examine the root at zero.
Since g,> is non-zero, from (51) we derive that both g, and g, are non-zero, and

thus all three parameters are non-zero.
Substituting (52) into (48) and (49), we obtain, respectively,



__ 28 _ 28 _ 1
P = 2 T -
&3 2g.8, 41

2
& & & 88 g 28’ g.(2.-2¢°) g, -2g”
Py = 2 + 4 4 - - -

g g g (22.8,) 4g’g,’ 4g.’g,

where we used (51).
Thus, in the region x>0,

2 1. g- 2g12
p,(X)=%" ——x+=2—21
& 48's
The polynomial p, (X) must have definite parity, and thus

i. If p, (%) is of even parity, then

DI B g2_2g12
P, (X)=x" ——|x|+=—=>— (53)
(%) g1| | 4g’e,

ii. If p,(X) is of odd parity, then p, must vanish, i..

g, =2g (54)
and
. 1 . .
P-—% x>0
- &
pz(x): 1 (55)
¥ -—3F %<0
&

In this case, substituting (54) into (51) yields
g, =4g’ (56)

Note that (54) and (56) give g, and g,* in terms of g, .

Also, from (54), we see that g, is positive, while from (56), we see that g, is also
positive, which means that g, is positive too.

Thus, for the odd-parity p, (%), both g, and g, are positive.

The polynomials (53) and (55) must satisfy the two continuity conditions (12) and
(13).

The condition (12) is satisfied by both polynomials (53) and (55).

The first derivative of the even-parity polynomial (53) is

I
2x——, x>0
'~ g
pz(x): 11
2x+—,x<0
41

Also, from (53), we have



. -2g/’
(0 ) 4g1 gzl

Thus, for the even-parity p, (x ( ) the continuity condition (13) takes the form

1 1 —2g?
_:__+2gl(gz ng J
g & 4g,°g,

Solving for g, yields, after a little algebra,

2
8= _Eglz (57)

Substituting (57) into (51) yields
4
2

g = —ggf (58)

Thus, for the even-parity p, (fc) , g, and g,° are also given in terms of g,.
From (57), we see that g, is negative, and from (58) we see that g’ is negative,
which means that g, is also negative.

Thus, for the even-parity p, (X), both g, and g, are negative.
Besides, using (57), the even-parity polynomial (53) becomes

_z 2_2 2
S N MU L | 6e) o Ly, ]
e
& 4g12(_3g12j & 4!

That is

N oo Ly 1
pz(x)=x2 —;|x|+—2 (59)
1

1

with g, <0.

The first derivative of the odd-parity polynomial (55) is
'~ o 1

P (x) =2|X|——
z -2

Also, from (55), p2(0+)=0, and the continuity condition (13), for the odd-parity

P, (X), is written as

81 81

i.e. it holds.
Thus, for g, (2) =0, we obtain the even-parity polynomial (59) with the conditions

(57) and (58), and the odd-parity polynomial (55) with the conditions (54) and (56).



The condition (12) ensures that the polynomials p, ()E) are continuous at x =0, and

thus they are defined at x =0, with their values at zero being equal to p, (0’) or
D, (0*), ie.
p,(0)=p,(07)=p,(0")

Thus, we can include the point X =0 in the domain of the two polynomials p, (fc) .

Then, the odd-parity polynomial (55) is written as

. 1 . .
% %20
- g
pz(x): 11
¥ -—3 %<0
&
or

Py (%) =sgn (%) 7~ 5 (60)

41

where sgn(X) is the sign function, i..

Now, for the two previous polynomials p,(X), we’ll calculate the respective

symmetrized quartic anharmonic oscillators, the energies, and the eigenfunctions.
For the even-parity polynomial (59), substituting the conditions (57) and (58) into the
exponential polynomial (5), we obtain

4 2
e )
)=- i+

. 4 - 1 5.
g (% 3 P +g|5 =58 5 -~ g% +g|3
That is
-~ 4 - 1 - -
g (%) =§g13 |x|3 —gglzx2 +g |x|

Thus, we obtain the even-parity wave function

3 o 1 1 LIPS TR
(53]l g on(Gor bt S a0

The negativity of g, ensures the square integrability of the wave function.

) ) o Ly 1 1 :
Since g, is negative, X’ ——|%|+—>—5>0, and thus the wave function (61) has
& & &
no (real) zeros, and then it describes the ground state of the symmetrized quartic

anharmonic oscillator that we’ll calculate now.



Using (11), the leading coefficient of the quotient polynomial for n=2 is

q,(2)=4g,’, which by means of (58) becomes ¢, (2) = —? g’

Then, the quotient polynomial ¢, (%;2) for ¢,(2)=0 is

3 16 ..
q,(%2)= =y g’ (62)

Also, substituting g, (2) =0 and (57) into (20), we obtain the ground-state energy,
which is

2

= 8
E=—=- (63
3 (63)

Observe that the ground-state energy is negative.
Using the exponential polynomial we found, in the region x >0 we have

Lo A 2
g5 (%) =§gl3x2 —ggfﬁgl
"/~ 8 ~ 2
83 (x)=§g13x—§g12

Plugging the previous derivatives, the quotient polynomial (62) for x>0, and the
energy (63) into the potential (4), we obtain

(.3 4 55 2 5. Y .8 5.2, (16 5. g’
Voix=2|=|-gx ——gx+ +-gX——g | ——=gx|-———=
( 5 j (3& 38 glj 383 & 38 3
16 6~4 8 4 2 16 3~ g-l2

=—g'x +ig4i2+g2—ﬁg5i3+—g —g3)~c+§g3i—2g +—g'x—=-=
9 1 9 1 1 9 1 3 1 3 1 3 1 3 1 3 1

16 (., 16 5., (4 . 4 1 ) 2 >
:_6g16x4__6g15x3+(§+§jgl4xz+(__+§+?6jglgx+glz__glz_g_lz

4~2
x —

3 3 3 3

16 ., 16 .. 28 ,., 20 ;.
:3g16x4_5g15x3 ?gl4x2+?gl3x
That is

~(_.3 16 (., 16 ., 28 ,., 20 ;.
K(X;_’2j23g16x4—3g15x3+?gl4x2+?gl3x

Since the potential is symmetric, we end up to

~(.3 4 (4 .. 4 55 T ~j
Vix,—,2|=— —g X ——g x| +—gx +5(x|| (64
(2j3gl(3gl 3glll 38 |5 | (64)

with g, <0.

Therefore, the ground state of the symmetrized quartic anharmonic oscillator (64) is
described by the even-parity wave function (61) and has energy given by (63).

For the odd-parity polynomial (60), substituting the conditions (54) and (56) into the
exponential polynomial (5), we obtain



. 4 N - -
g; (x) = _§g13 |x|3 +g12x2 +& |x|

Then, we obtain the odd-parity wave function

y/(i;%,Zj =4, (sgn(fc)iz —gL)Ej exp (—ggf |)~c|3 +g’% +g |5c|j

1

, we write the wave function as

Using that sgn (%)X =|%
.3 1~ 1 4 P - -
t//(x;—,zj = Azx[|x| ——j exp (——gﬁ |x| +g'% +g |x|j (65)
2 g 3
In this case, the square integrability of the wave function is ensured by the positivity

of g,.

) ) .. ) o 1 .
Since g, is positive, the wave function (65) has three zeros, at 0, and at |x| =—, lLe.
81

1 ) . ) ) ) )
at X =1—, and thus it describes the third-excited state of the symmetrized quartic
&
anharmonic oscillator that we’ll calculate now.

Using (56), the leading coefficient ¢, (2)=4g,* of the quotient polynomial for n =2

becomes g, (2) =16g,’, and then, the quotient polynomial for this case is
q,(%:2)=16g,'|3| (66)

Also, substituting ¢,(2)=0 and (54) into (20), we obtain the third-excited-state
energy, which is

E=-3g (67)

Observe that the third-excited-state energy is negative.
Using the exponential polynomial we found, in the region x >0 we have

g, (X)=-4g’s +2g’5+g

g3" ()E) = —8g13)~c + 2g12

Plugging the previous derivatives, the quotient polynomial (66) for x>0, and the
energy (67) into the potential (4), we obtain

I;Jr (i;%azj = (_4g13562 +2g'%+g, )2 ~8g % +2g ~16g’¥ -3¢ =

2

=16g %' +4g*'% + g’ —16g°% —8g,'¥* +4g’%-8g ¥ +2g’ —16g’5-3g’ =
=16g,'%' 168’ —4g,'F —20g,' ¥ =4g,’ (4g,'% —4g% - g,¥ -5%)
That is

3

I;Jr (i;aazj = 4g13 (4g13564 _4g12563 —g1)~62 _S)E)



Since the potential is symmetric, we end up to
V(x% 2) =4g’ (4 g% —4g? |7 - g% -5 |)z|) (68)

with g, >0.

Therefore, the third-excited state of the symmetrized quartic anharmonic oscillator
(68) is described by the odd-parity wave function (65) and has energy given by (67).

References

[1] David Branson, Continuity conditions on Schrodinger wave functions at
discontinuities of the potential, Am. J. Phys. 47 (11), Nov. 1979,
http://aapt.scitation.org/doi/10.1119/1.11688

[2] Miloslav Znojil, Symmetrized quartic polynomial oscillators and their partial
exact solvability, Phys. Lett. A 380 (2016) 1414-1418,
https://arxiv.org/pdf/1602.07088.pdf

[3] C. Quesne, Quasi-exactly solvable symmetrized quartic and sextic polynomial
oscillators, 11 Jul 2016, https://arxiv.org/pdf/1607.02929.pdf

[4] Carl M. Bender, Gerald V. Dunne, Quasi-Exactly Solvable Systems and
Orthogonal Polynomials, J. Math. Phys. 37 (1996) 6-11,
https://arxiv.org/pdf/hep-th/9511138.pdf

[5] Spiros Konstantogiannis, Using a Quotient Polynomial to Probe the Solvability of
Polynomial Potentials in One-Dimensional Quantum Mechanics, 24 August 2017,
http://vixra.org/pdf/1708.0328v1.pdf

[6] Spiros Konstantogiannis, Quasi-Exactly Solving the Sextic Anharmonic Oscillator
Using a Quotient Polynomial, 5 September 2017,
http://vixra.org/pdf/1709.0029v2.pdf

[7] Yao-Zhong Zhang, Exact polynomial solutions of second order differential
equations and their applications, J. Phys. A: Math. Theor. 45 (2012) 065206 (20pp),
https://arxiv.org/pdf/1107.5090.pdf

[8] David J. Griffiths, Introduction to Quantum Mechanics, Prentice Hall, Inc., 1995


http://aapt.scitation.org/doi/10.1119/1.11688
https://arxiv.org/pdf/1602.07088.pdf
https://arxiv.org/pdf/1607.02929.pdf
https://arxiv.org/pdf/hep-th/9511138.pdf
http://vixra.org/pdf/1708.0328v1.pdf
http://vixra.org/pdf/1709.0029v2.pdf
https://arxiv.org/pdf/1107.5090.pdf

